ABC PUBLIC SCHOOL

PRE - TEST 1
SESSION —2024-2025

CLASS -1V (A +B) M.M.: 50
(ENGLISH)
(SECTION - A) (25 MARKY)
I) Rewrite each word with the given ending. (0.5x5=2.5)
II) Fill in the blanks with the given words. (0.5x5=2.5)
III) Word meaning. (2x2=4)
IV) Make sentences. (2x3=6)
V)  Answer these questions. (Any five) (2x5=10)
(SECTION - B) (25 MARKS)
I) Definition. (2x2.5=5)

(a) Adjective with example
(b) Masculine or feminine gender with example

II) Replace the underlined nouns with nouns of the common gender using the given

words.

IIT) Put apostrophes in the correct places and rewrite the phrases.

(1x5=5)
(1x5=5)

IV) Circle the subject and underline the predicate in the following sentences (1x5=5)

V)  Choose the correct demonstrative adjectives to complete the sentences.

(HINDI)
(TS-F)

1- G 3ca} W HEr FT AT seme

2- Rea wurer 6T

3- erserd

4- AIFT AT

5- T9T- N & 9T

6- 92T~ 3o
(@3- @)

7- TFATH & g
8- WeaT Jca¥( IR & MUR )

(@S- M)
9-UF oigH
10- TTATAHSD U9

(1x5=5)

0.5x4=2
0.5x4=2
1x4=4
1x4=4
1x8=8
2%x3=6

1x8=8
2x3=6

Sx1=5
5x1=5



A

AN AP

(SOCIAL STUDIES)
Multiple choice questions
True or false
Fill in the blanks
Answer in one word
Short answer type questions
Give reason
Long answer type questions
Map work

(MATHYS)
MCQ
FILL IN The BLANKS
TRUE/FALSE
SOLVE THE FOLLOWING
Solve the following

(COMPUTER)
SECTION - A (20 Marks)

Q. 1 Choose the correct option :
Q. 2 Fill in the blanks :

Q. 3 Write True Or False :

Q. 4 Match the following :

SECTION - B ( 15 Marks)

Q. 5 Write the full forms :
Q. 6 Re-arrange the letters :
Q. 7 Answer the following questions in word form :

SECTION C ( 15 Marks)

Q. 8 Answer these questions (Any 4 ) :
Q. 9 Draw the diagram (Any 1) :

NN R BN

(SCIENCE)

Multiple choice questions.

Fill in the blanks.

True or False.

Give one word answer.

Short answer questions (Any five).
Long answer questions (Any two).
Diagram.

(1x6=6)
(1x6=6)
(1x6=6)
(1x6=6)
(3x2=6)
(2x2=4)
(3x4=12)
(1x4=4)

12 marks
7 marks
7 marks
12 marks
12 marks

[1x5= 5]
[1x5=5]
[1x5= 5]
[1x5= 5]

[1x5= 5]
[1x4= 4]
[2x3= 6]

[3x4=12]
[3x1= 3]

(1x5=5)
(1x5=5)
(1x5=5)
(1x5=5)
(3x5=15)
(5x2=10)
(5x1=5)



